A pp — 88,8 —bbx] pp — g8,& — ttX] pp — 88,8 — qax1
Bin H%“SS [GeV] Hry [GeV] Nb_]-et mg = 1500 GeV mg = 1500 GeV mg = 1000 GeV
mﬁ = 100 GeV mﬁ = 100 GeV mﬁ) = 800 GeV
49 200-500 500-800 0 0.00 £ 0.00 0.00 £ 0.00 0.87 £0.11
50 200-500 800-1200 0 0.00 £ 0.00 0.01 £ 0.00 1.99 +£0.16
51 200-500 1200+ 0 0.04 +0.00 0.09 £+ 0.00 0.80 £0.10
52 500-750 500-1200 0 0.00 £ 0.00 0.01 £0.00 0.49 £+ 0.08
53 500-750 1200+ 0 0.04 £+ 0.00 0.07 £ 0.00 0.66 = 0.09
54 750+ 800+ 0 0.03 £ 0.00 0.06 £+ 0.00 0.64 £+ 0.09
55 200-500 500-800 1 0.00 £ 0.00 0.00 £ 0.00 0.29 £+ 0.04
56 200-500 800-1200 1 0.00 £ 0.00 0.03 £ 0.00 0.81 +0.07
57 200-500 1200+ 1 0.15+0.01 0.37 £0.01 0.33 +=0.05
58 500-750 500-1200 1 0.00 £+ 0.00 0.02 £+ 0.00 0.16 == 0.03
59 500-750 1200+ 1 0.13 £0.01 0.32 +£0.01 0.27 +0.04
60 750+ 800+ 1 0.11 £0.01 0.25 +0.01 0.28 +0.04
61 200-500 500-800 2 0.00 £ 0.00 0.00 £ 0.00 0.05£0.01
62 200-500 800-1200 2 0.01 £0.00 0.05 £ 0.00 0.20 £ 0.03
63 200-500 1200+ 2 0.22 +£0.01 0.61 £0.01 0.09 +£0.02
64 500-750 500-1200 2 0.00 £ 0.00 0.04 £+ 0.00 0.03 £0.01
65 500-750 1200+ 2 0.19 £0.01 0.53 £0.01 0.07 £ 0.02
66 750+ 800+ 2 0.16 £ 0.01 0.41 +£0.01 0.09 £+ 0.02
67 200-500 500-800 3+ 0.00 £ 0.00 0.00 £+ 0.00 0.01 £+ 0.00
68 200-500 800-1200 3+ 0.01 £+ 0.00 0.06 £ 0.00 0.04 +0.01
69 200-500 1200+ 3+ 0.22 +£0.01 0.77 £0.02 0.01 +£0.00
70 500-750 500-1200 3+ 0.00 £ 0.00 0.04 £+ 0.00 0.00 £ 0.00
71 500-750 1200+ 3+ 0.20£0.01 0.67 £0.02 0.01 £ 0.00
72 750+ 800+ 3+ 0.16 £0.01 0.49 £+ 0.01 0.02 +£0.01



